Pyramids, Cones, Spheres HW
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3. Determine the volume of the solid.
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vatch the following terms tg the diagram

Given the square pyramid,
1. Slant Height

5 2. Apex
E 3. Height
B 4. Lateral Edge

é 5. Face

C 6. Vertex

5. Jeff missed class and Dillon is explaining the notes. “The slant height and the height
of the pyramid basically mean the same thing.” Is this summary of height correct?
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6. Determine the volume of the pyramid. fvom apex o h_‘_‘__‘if_;J—(’;"}

a) Square Pyramid b) Rectangular Pyramid
(nearest hundredth)
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c) Square Pyramid d) Equilateral Triangular Pyramid e) Square Pyramid
(nearest tenth) (Simplest Radical Form) (nearest integer)

Lateral Edge = 13 cm
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